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QUESTION 1

A company wants to deploy Windows 8 Horizon desktops for end users with the following goals:
1.

Fast provisioning

2.

Fast guest customization

3.

Minimum storage space

4,

No user profiles on the C: drive

What must be implemented to meet these requirements?

A. Use Horizon linked clones with persistent disks.

B. Use Horizon full clones with persistent disks.

C. Use Horizon full clones with User Environment Manager.

D. Use Horizon instant clones with User Environment Manager.

Correct Answer: D

QUESTION 2

A customer is planning on implementing Horizon View. Security is a major concern. Only corporate managed Windows
laptops should be able to access the Horizon environment from the Internet. Which solution should be implemented to
support the requirement?

A. Deploy NSX. Use NSX feature to validate client\\'s MAC addresses and only allow registered clients.

B. Deploy VMware Identity Manager. Configure it to require RSA SecurelD. Only install the RSA SecurelD soft token
software on managed devices. Configure Horizon to allow SAML.

C. Deploy View Security Server. Configure it to only allow domain joined computers accessing Horizon.

D. Deploy Unified Access Gateway. Configure it to require a device client certificate and to use pass-through
authentication for Horizon. Distribute certificates to managed devices.

Correct Answer: D

QUESTION 3
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When meeting with a customer, these VM template requirements for instant-clone are determined:

1.2 vCPU

2.4 GB Memory

3. 20 GB OS disk

Which is the formula to design a 40% utilization strategy for 80 desktops, given the above requirements?
A. 80 *((0.4*20) + 4) +20

B. 80 * (0.4 * 20) + 20

C. 80 * ((0.4 * 20) + 4) + (2*20)

D. 80 * (0.4 * 20) + (2*20)

Correct Answer: A

QUESTION 4

A company has decided to virtualize all of its helpdesk employee\\'s workstations. These requirements must be met:
1.

All applications used by the employees will be published through RDS hosted application.

2.

Users will NOT be allowed to store any personal data on their Horizon desktops.

3.

The Horizon desktop design should meet maximum storage space efficiency.

4,

The Horizon desktop design should meet maximum performance.

5.

The Horizon desktop design should meet maximum power savings.

Which three features can be enabled to meet the company\\'s requirements? (Choose three.)
A. Full clones

B. Instant clones

C. Space Efficient disk format (SEsparse)

D. Content-based read cache (CBRC)

E. Virtual SAN (VSAN)
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Correct Answer: BCD

QUESTION 5

A customer is deploying a new Horizon View Pool which will support workstations deployed using older third-party zero
clients. The older zero clients will be used to access a 3D modeling application. Which protocol should the pool use?

A. RDP

B. RGS

C. PColP

D. Blast Extreme

Correct Answer: D
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